Spring Test 6

3 X 3=33 q 422 +6=

5 = 5 of 12 6 |47 - =24

7| 5X8= 8 | 628 +40 =

9 X5=150 10| 40 + 90
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Spring Test 6 (continued)
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[Total marks /18
How we“ did you do? * without crossing a ten or a hundred 4 6 8 10
Colour the numbers of the questions £ crossing a fen or a hundred 13 116 | 17
t correct. 2x, 5x and 10x tables 5 7 9
yougo 3x and 4x tables 3 9 12 14 18
Tables of multiples of 10 9 14
Short written x 18
Fractions of an amount 5 12
+ fractions 11 15
Missing number statements 2 3 6 9 10 17
+ 2 4 8 11 13 17
— 1 2 6 10 15 16
X 7 12 18
+ 3 5 9 12 14

Arithmetic Practice Tests YEAR 3 © Rising Stars UK Ltd. 2015




